STANOGARD
EﬂL ® LOMPANYAY

Cart Seed & Soil Caddie

18950

*Items in gray represent
parts from golf cart

\4
*
Vertical Surface Mount Horizontal Surface Mount
Key No. Item Description Quantity Part No.
1 Cart Caddie Holder 18951
2 Cart Caddie Bottle With Lid 18955
Lid Only 18954
3 Cart Caddie Hardware 18953

Horizontal Mount Bracket

1/4 - 20 x 1- 1/2" Machine Screw
1/4 - 20 x 1/2" Carriage Bolt

1/4 Flat Washer

1/4 - 20 Nylon Lock Nut

NOoO v~
W WNN = 2 O a

STANDARD GOLF COMPANY . P.O.BOX 68 . CEDAR FALLS, 1A 50613 . (319)266-2638



